Binomial Expansion
g(x)=(3+ax)® where a is a constant
Given that one of the terms in the binomial expansion of g(x) is 2500x3

a. find the value of a.

(4 marks)
Using this value of a,
b. find the constant term in the expansion of
1 6
1 +— (3+ax)
X
(3 marks)
A Begin by expanding (3 + ax)® - only veed the cocfficient of the 22 term thonah:
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@Cg) 2% 4% =20 % 2F % a° 1 wark
= 5404°
This thew gives:
54047 = 2500
3 2500
477 540
2 125
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a = 3 1 wmar
b. The constant term of the product veeds the constant term and the coefficient of the X +erm from the
expansion of (2 + ﬁx)@
2% and “C, 24 4%
1 mark
Adding them gives:
e L ¢ 4 2 25
37400, 37a% =329 + 15 x 1 x 7
= 724 + 3375 1 mark
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